www.Padasalai.Net www.TrbTnpsc.com

\[//d ye 0(()/(4-,';”0[

SECOND REVISION TEST - 2025

Standard XI Reg.No. | 11 [ |

MATHEMATICS
Part - | Marks : 90
‘ . 20x1=20

Time : 3.00 hrs
. Choose the correct answer:

, ex—2 ‘e7+x
1. The value of x, for which the matrix A= Lz+x e2x+3J is singular, is :
a)7 : b) 6 c)9 ' . d)8
| 1 00 .
2. Which of the following is n_dt true about the matrix (()) . 2 - ?

a) an upper triangular matrix j " b) a lower triangular m‘atrix o
c) a scalar matrix . : d) a diagonal matrix

If |5+6]=60;'jé-6,.=60 and|B| =46, then || is

3.
a) 32 _ b)42 - © . 0)12 d)22
4. If 3 and p included an angle 120° and thelr magnltudes are 2 and J3, then 3. b is is
equalto - s ) a , : o
_«/?7// - b) V3 AN =3 d)2
5. The value of 21 ;;—+51;+ ------ is :
e?-1 Y 3 NN (%) (AR (o
-2) 2e b) 2e . ) 2e -d) "2—‘:_.L
cosBx+6cos4x+15c082x+10 _ '
6. cos5x+5cosn 3x+10cox ) _
a) 2 cos X b) cos 2x c) cos X d) cos 3x
N T
* 'cos80© sin800 g , .
a) 4 by vz o 3 42
8. If2nC,:nCy=11:1,thennis: | -
a)7 b) 5 ' c)6 d) 11
9. The function f: [0, 2x] — [-1, 1] defmed by f(x) =sinxis S - ;
a) one-to-one b) onto c) bijection d) cannot be defined o8
, ez |

. 10. IfA={1,2,3),B= {1 4,6,9} and R isa felatlon fromAtoB def"ned by X' greater than ‘y’.
‘ The range of R is: b P : '
a) {1,4,6,9} - b{46 9} o {1} d) {2}
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2
Thevalueof1-——(,§2 %(,_,2_ _%G ....... | ‘ e
2wl b el o g 03
'_ If the point (8, —5) lies on the locus _1% _%g =k, then the yalue' of k is: |
a)0 b) 1 . . i c)2 d)g through the ponnt of

Equation of the straight line perpendicular to the line x—Y *
intersection on the y axes and the given-line:
a)X-y-5=0 b)x+y—5=0- c)x+y+5= 0_
The expansion of (1 - X)2is. ‘
a)T—x+x2—...... e b) 1+ X +X2 = cooviee
0)1—2x+3x2 ........ PR R d)1+2x+3x .......

d)x+y+10 0

X+2,x>0

f(x
;Forthefunctlon () {x-—‘Z,X<0

= T Lim rot exist.
x—>2‘ (X) 2 ] ~b) x>0 f(x),does ‘ _
Lim® : - . 4 Lim
c) - f(x)=-1 , o d). f(x)=1
C,) x—0~ ) - : A x>0 b )
If f(x) = x2 — 3x, then the pomts at WhICh f(x) -f'(x) are
a) both irrational - i b) one rational and another |r_ratlonal
c) both posmve integers . ' d) both negatuve lntegers

_2
Itis given that the events Aand B are such that P(A) = P(A /B) = and P(B IA)= 3
then P(B)/IS '

a) 2 'b)%-.v‘: o Y ._d)%v"

e = ) = . _q! = g '
If x = at?, y = 2at, then o\ o “ .
ay -t b X o o= a9t
1)y = | | » |
'I(:+1)dx A :
- » : S | byl 1 (X -1
a) x+2log(x+1)+c _ | S +e
©) x=2log(x+1)+c d) i"—‘z—:og(m)m»
123x+5 dx = | |
3x+5 ' .3(23x+5) 23x+5 23x+5

2
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Find the value of the product

38.. Does the Irmrt of the function I |
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3 Xl Maths .
Part- Il . *4
' 7x2=14

Answer any 7 questions. (Q.No.30 Is compulsory)
IfA={1,2,3,4) and B = {3,4,5,6} then find n[(AUB) x (AnB) x (AAB)]
Find the complete set of values of ‘a’ for which the quadratic equation x2—ax+a+2=0

has equal roots.

Nl

Find the principal solution of €0s0 = -

- 17
Find the coefficient of x5 in the expansion of (x +L)
X
Find the equatron of the straight lme if the perpendicular from the origin ey

angle of 120° with x-axis and the length of the perpendlcular from the. ongln is 6 units. .

Define dlagonal and scalar matrices.
Find a unit vector along the drrectlon of the vector 5i — 3] i+ 4k

Consider the function ‘f(x) =x. x >0. Does )';'mo f(x) exist?

___L_—dx
Evaluate' / sin? xcos® X
Differentiate x* with respect to'x.
Part-1ll - g pEnseme -
Answer any 7 questlons (Q No.40 i is compulsory) ¥y - 7x3=21
Find the range of f(x)= ———1 T

If a srn26 +b cosze c then show that tan 0 —: 2

a,lis a geometrlc progressmn then prove that every term ak(k > 1) |s

Ifa,, @y, @z, oeovee
dlate predecessor a,_4 and |mmed|ate SUCCESSOr 8y

the geometric mean of its imme
Find the nearest point on the line x — 2y 5 from the origin.
If (n+2)Cq : (n—2)C4 = 57:16, r’nd n h ‘
log 364 log 43
log,8 log 49

lo
: 923 Iogs3
log 4 log, 4

Show that & x (b +c)+ bx (¢ +a)+c>< @ +b) 0
exist when x—0. State reasons for your answer.

| If Y ='tan'1(1—;—§%) then ftnd Y'

Evaluate [(x+3)/x+2dx
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4 | Xl Maths
, Part - IV
.Answw all the questions, 7x5=35
2) . Find the unit vectors perpendicular to each of the vectors a+b and 3_§, where
~I+j+k and b—i+21+3k
b (OR)
) Write any ﬁve different forms of an equation of a straight line.
a) Forthe given base curve Y = sin x, draw y= 55'“2"
| " (0oR)
b) Solve the equation [ _ Ax-x2 —x 14"
a) State and Prove any one of the Napier's forrhula
(OR) - ' '
b) Prove that for any natural number n, a"-b" is divisible by a — b, where a > b.
a) Prove that 3,/)(3 +7 3‘/x3 +4 I8 apprOXImater equal to }4 2 when xiis large.
( OR) s : |
~b) Evaluate : [—2X+4_dx
x2+4x+6 _ P :
a) . By the principle of mathematical induction prove that for n > 1
124224324 4 (2n-1p =W"
2bc-a2  ¢2° p2 | la b o
2 _he . 2 |_
Show that c2 20a2b_. .a‘2—b_ -
b -ac _Zab'—c_cab
a) Show thatthe equation 9x2 — —24xy + 16y2 - 12x + 16y 12=0 represents a pair of
: parallel lines. Find the distance between them.
. (OR)
sin”! x ' '
b) If ¥= [—> then show that (1 - x2)y2 —3xy;-y=0
: _ 5x-2.
a) . thferentlate with respect to x : 2+2x+ X2
(OR) |
b) IfABCD isaquadrilateral and E and F are the mldpomts ofAC and BD respectively,

prove that AB + AD + CB +CD = 4EF

*hkkhkkhkki
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